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Mathematics 9

Polynomials
Multiplying Binomials Part 2

A. Definitions

1. binomial: the expression that contains two terms.

X =5 > ab +3c

B. Examples

1. Multiply the following binomials.
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K) (4m—Tn)4m+7n)

) (5x+3y)2x-y)
o 10X ES Pl =3y"

lox + Xy =3y

) (a2 +26)2a? -3

b G pBMN-3BaD)- 40 goﬁ@ U bk

Assignment:

é&"( _ ’Saz\o — (D(OL

Multiplying Binomial 2 Part Assignment #2 — 5

Mathematics 9 2016 Page 2



Name:

Multiplying Binomials Part 2 Assignment

Solve the following on a separate piece of paper.

2. Find each product.

a) (x + 3)x + 4) - b) (n + 2)(n + 6) c) (a@a— 5)a— 3) .
d (¢ — D@ — 4 e) (x — 2)(x + 5) f) (n+ 3)n—4)
g) (@ + 6)a — 8) h)y @+ 9x — 7) ) (x+ 12)x = 5)
_ 1 1 2 1
1) (s 1) (s 3) k) n+2 n+2 D {a 3 a+2
3. Find each product. . . )
a) (a + Ia - 2) b) (n — 3)n — 2) oy —Hy +5)
d) (b — 6)b + 3) e) (@ — 10)(a — 6) f) (n+ 10)(n + 12)
g) x — Dix +5) hy v =8¢ + 1) ) (z— 50 —6)
) (@ + 2)a — 3) k) (b + 10)(b + 4) D (x—9x — 1)
® .
4. Find each product. _ _
a) Gx +2)x — 1) b) (2a — S)(a — 3) c) (4n — T(n +9)
d) (x + 3)6x — 5) e) (12x + 1Bx — 1) f) (5n — D2n — 2)
g) (7c — 5)Qc + 1) ~h) (6x — 2)(3x + 1) ) Gx — Dx + 2)
) @Ba + 1)2a — 5) k) 8y —3)5y — 1) D (2x — 3)(4x + 7)
5.a) (x — 3)5x + 2) b) (2a + 1)(2a + 3) ¢c) 8n — 3)2n — 1) -
d) (4a + 3)(4a + 3) e) 3x — 2)(4x — 3) f) (5x + 1)(6x — 4)
g) (bx — 3)2x — 95) h) 36 + 2)(3b — 2) 1) Sa + )da — 7)
) (a+ 8)@Ba + 1) - '
6. Find each product.
a) (@ — 3)(1 — a) b) (x — D —x) ) 2y — DG +y)
d) 2z —4H(A + z) e) %x +3]13 — ix) f) Gx — 2)2 + 5x)
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Answers

.a) x>+ 8 + 15 b) @* + 6a + 8
¢)n?+ 8n +7 .
.ax2+Tx+12 by n*+ 8 + 12
c)a*—8a + 15 d)# -5+ 14
e)x2+3x—10  f)n?—n— 12
g) a? — 2a — 48 h) x* + 2x — 63
)2+ T7x —60 j)s*— l4s + 33
2 1 »_ 1 _1
k)n+n+4 1) a 6a 3
.a)a —a—2 byn-5+6
)y +y—20 d) b»-3b—-18
e) a* — 16a + 60 f) n* + 22n + 120
g) x> +4x —5 h)y:+ 3y — 88
)2 - 112430 j)a—a—6
k) b* + 14b + 40 Dx—10x + 9
.a)3x%—x—2 . b)2a? - 1la+ 15
©) 4n? +¢13n— 35 d) 6x* + 13x — 15
e).36x — 9x — 1 f) 10n* — 12n + 2
g) 142 — 3¢ -5 h) 182 —2 -
)32+ 5x—-2 j)6a®>—13a — 5
k) 40y? — 23y + 3 D 82 + 2x — 21
.a) 5% —13x — 6 b) 4a> + 8a + 3
¢ 16nm* — 14n + 3 d) 162> + 24a + 9
e 1222 — 17x + 6 f) 30x> — 14x — 4
g) 12x2 — 36x + 15 h) 9p* — 4
i) 20a — 3la — 7 j) 8a® + 65a + 8

. 8) —a* +4a—3 b) -2+ 2 — 1
©) 2 +9% —5 d)222—-2z-4

1 3
e) —§x2+zx+9 f) 15x2 — 4x — 4
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